TELESCOPIC EXTENSION / 540

ASSEMBLY INSTRUCTIONS
Ref:-F19220 ’ Description
).

1. Extended to be a 1.5m long dining
Min. 555 table,which is enough for a family
or 4~5 persons to use.

2. Made of high grade aluminum alloy

3. Wide usage:can be used on desk,
cabinet or dining table

4. Extened smoothly and quietly
5. Easy installation

6. Load capacity:70 KG

LT=Min555mm

Detai |
Ref.: F19220
Material: ~ Aluminum alloy
Size: 540
Qty.: 1 set
N

Tool Kit /' Package: 1 set/ctn

3<—D [=iWses | Item: square crossbar
= -® @ — .
8 Material: ~ Aluminum alloy
: L=LW-164
ﬁ Size: - (Customized Available)
\® Qty.: 1 set
@ ‘/G) N \@ Package: 1 set/ctn

No.| Item |Qty||[No.| Item |Qty.||No.| Item

L=LW-208 ltem: square le:

1 | LCiSlide | L+R|| 6 |Foldplate L3| 1pcs || 11| Lock plate @ q 9

2 |LClCrossbar| 1pcs|| 7 M6*12 | 12pcs|| 12 M3*14 Material: _Aluminum alloy
Size: L=LW-208

3 | LClLeg |1lpcs|| 8 | Coppernut | 12pcs|| 13 M6*16 1ze: (Customized Available)

4 | Fixplate L1|1pcs|| 9 | Toolsmm:| 1pcs || 14 | Tool-3mm:| 1pcs Qty.: 1 set

5 |Fold plate L2| 1pcs|| 10 | M6*62 4pcs || 15 Package: 1 set/ctn

Table Detail (unit: mm)

REMARK: DO NOT TOUCH !

i ™™
C1=LW-6 \
|| Fold plate L3>
| Fold plate L2
Nl i esies Fix plate L1
I . N T —— _—* ‘Z o
e e AT
0 37 8|
- 2 EI - <4 c| ©
3e 64|, 352 64| f 25 s| £
o SE‘ install two 1101135° hinge =P 212 = £
~ (,:‘ f ‘g = Table top: Level and Seamless
1 Available to install = s
a handle (1378)
|l Minl6 Lo
W= Cobinet Outor Wit Table Closed Table Opened

LW = Cabinet Inner Width C1= Fold Plate Width=LW-6mm




Installation Detail

Plate Size
y 1378) Fix plate L1 Fold plate L2 Fold plate L3
=LW- [ — ]
Cl LW 6 Cl_ Lw_e Install atless two cross hide hinges
—==—=V1Y Suggestion: install three hinges , if the
4—4 i LW-82 Make the holes | plate is longer than 600mm
o in advance.
A e ) |
= = depth 1o} + + =T+ 3
94 52
\ Plaie 0 Il it g — 2
4 & VLT 1 "
(1266+x2) L B e " -
o o
The cabinet must be firmly & i 12 nsat atiess o soss i inges sial s fur aves i Finons
fixed on the wall, otherwise Q m ’cE %Eeg;‘s;on I? hinges , ﬁ * plate 1 longer than 600mm
if the cabinet is tilted under R b e s — e —
e oo — -t —
force, it will cause injury to High adjusted T
others 0'_|"’ T [oe) ﬂ O-—ot
. — c
I | = =
] L = Y |[C1(Fold plate width)=LW-6 =
LW= Cabinet Outer Width
TW=Cabinet Inner Width

Table Mechanism Install Detail

l’ J ) \‘
\

| *&
=~~~ Copper
Expansion Nut

1. Install Copper Expansion Nut Bms=p 2. Install Mechanism as per the photo BEs=p 3. Install Square Crossbar and Leg

Pay Attention To
The Fold Direction

7. @ Install Expansion Nut In The Bottom Of Fix Plate
> @ Install Cross Hinges Between Two Fold Plates
(3 Install Lock Plates In The Bottom Of Fold Plate L3

Spin The Lock 90° To Lock .
The Fold Plate =P 10. Installation
Finished

¢ 8. Install Fix Plate

Table Close Step

Close The Lock In The Direction
Shown In The Photo

2. Spin And Close The Leg After Spining Rotation Lock .’ 3. Close The Lock To Puch The Mechanism

1.Fold The Fold Plates Press The Button Rotation LOCK And Then Close The Table Mechanism Move To The End




